0009 R4
00’9 g
00°0c TiE -
00°0¢ N
0002 EYGR
00 0¥ e SUa +
00041 N
¥0°0 cPn
00°L [
0€0 5
00°'8¢ 2 00°¢ @cP -
080 L—YFEd -
00061 N 00°L HeTh -
00°¢ GRNNZEL 00°GL L L £
00°¢ @cEn - 0G0 L1711
0€0 =i 00°0¢ e
0€0 HED - 00°GL =t
00°0¢ ¥E - 00°0L vy
0001l 2N 00°0L 2RS¥
00°0 >a& 2|2 00°GlL bt -
000 CEl 00’9 5851
00°0 =t
00°0 YYD 00°L E_-MMH -
00°S FIRY 000l YAl
00°6¢ C2YUCE
00°¢ Y—(—&YLL 00°0v &3
00°9 HYHEY - 00°L e -
0009 IO - 0g’ B
0G° Y (1¥
020 = 02 )
00°¢ ¢UcI - 02°g (IS
0G°L WAL 00°L HeTh
00’ BT 090 Wcyn
0G°L i 09°0 >2Y2]
00°GL YoM 000L =
00°0¢ AgE - 006Gl ¢
00°9 LB - 00°g HY (B
00801 N 0G'¢C B
06°L @crn - 00°0¢ Bl -
00°0¢ ¥a3 00°0<¢1L 4
00°09 P4 00°001L K
00790¢ - 0090¢ T -
FO\[ | . B0\ 2oy
—Nado0F22
Hygn/ L) T86—1C
Iy L—Y g
G2 PEM M AAOHY LR
B+ TEE
HZHS HLHS

ZETTVER s HEEB VM —F NN LIGE




00°0% —Na -
€00 c¥rz
0€0 =1 00°0¢l N
0S50 = 200 c¥yT
0071 El] 007091 N 020 o7
007¢ GCcPN - 200 cPo 00°L 74
09 HeT L - 0€0 5t 0S°L ¢cPN +
00 EoMMH - 0071 KL = 00°L C—Y&Ed -
0070 N2¢3FCR 00°0€ e 00°L [e7D)
0070 YAV 00°0¢ SRz 00°0¢ HAZE -
00°0L necax 00°0L yAv2| 00°0¢ N2¢3C
00°0L JUNEG—E - 00°SYy fav a4 00°6¢ FNWLED 00°GL N2¢3C
00°L C—V = 0001l =t
007091 X 00°001L N¢ 00°L —agx - 00°0L WA
007¢ GRLNNZL 000 @CFN - 00°0¢ SCP=/
0079 2P - G0°0 c¥> €00 2% 00°0¢ g% -
00°L PrA=IE 050 o 00¢ Y—£ -
00°0Z e/ 00°L XACE = 200 cPn2 00°¢g HYEHEY -
00°G¢ L4 - 00°G LhALL, 0L0 o 00709 g8 -
0L0 @Yk 00°¢ C—(—8&YLC 0€0 ¢CcP -
00701 =t GLo G—1r 0071 O 00l HE= -
00°0L WA 00 ¥ YA L£ - 0071 C—/s €00 c¥Io
00°G¢ NS 00 GH—1 0072l (ALl 0€0 Z
006 —&N _~ 00°E (0O 0071 74
00°G N 006 G2 - 00°09 e/ ov’0 L—YER -
00°L i*ia 0L70 >S2lY7] 0071 —&\M - 007¢ GCP -
0072 B 0L0 zecen 050 S2IY 7] 0071 el -
007¢ (1% 00°0¢ AWl 00°g¢ M - 0E0 W CPN
0571 % 00°GlL OBz 0€0 >2]Y2
0ze G - 00709 SCRz/ G000 ot 0971 E_oMAE -
00 ¥ HEEHEY - 00°0€ F W] 0L9lL e 009 =t
00°0% DRSSP C\Y 00°¢ [T 09V ACC 00°0L 2C¥
0071 Hech - 0c¢ TEGEIRH 0091 BEUNO
00°¢ NN 00°g¢ bt - 00'8 H@HEY - 00°0¢ M0 -
007021 N 007021 N 00°0% Nt 007201 e
007001 sk 00001 X 00708 NNAE - 00°G8 e
0090¢ = 00°90¢ B - 00°90¢ Tt - 00°90¢ Tt -
=5 O\ 2 =5 BEO\ A = BEO\ ZiE =5 B0\ A 2 | BEOT TT
JUC—E
H2OFNY&Q —(1ABTOYLLR 2GS\ L—Y0aV L—Y —CilfigEd
Y—(EEHFEHOLCY SChLhrl—C LA Lo—) B
(1) LWL (& K2 Y=Y £ MG AT N (—AL3EME
i Tt TEd Tt
SETES HOLHS B H6HS SER H8HS HEY: HLEHS B H H9HS

FETVERHE HEER VM —F NN LIGE



00°049l A
090 T 000V (DNVECRCLANEES *
00°¢ GNNEL
00°L (1% 00°09lL 4
00°L B 0’0 cP2 00°0491L N
05°0 o 050 5 #OUO cPn>
00’¢ @cr - 00°L B¢ 00°L ~}CH
0G0 /o 00°¢ ¢cr + 05’1 @c¥n -
00°0¢ UaSE - 00°041L P4 050 L—YEEh - 0%’0 =
00°01L =t 00°¢ GONNZL 020 AN N 080 KA+
0001 TN 1 050 = 00°0491L N 00°L E_oNM\H - 00°0L C2YUCE
00°0¢ HE - 00°L Y(rfP 00°¢ LNNZEL 020 Weyrn 00°S —afx =
0001 YAy 2| 00°L B¢ 009 2L 00°0L e V4 00°0L yAAv2
00°L B 00°¢ @pcrn - 00°L 2PH - 00°01L Ayl 00°0¢ =CE-/
00°'gl M8 - 08°0 WEPN 00°0¢ HE - 00°0L Q¥ oonm_. =NV =
00°L [SSE=3 00°9 £ -« 00°6<Z Y 00°0¢ vt
00°g N 00’9 =UE 009 AN 00°L B
00°L V(1 F 009l =t 00°g QG 00°GlL A - 00°¢ Y—(\Fh
00'% @GP - 00°0¢ 2 00°Gl =t 050 A 009 HSMHSY -
00°¢ 2l 000l Y2 00°0¢ fayvd 00°09 LAOCELE -
00°L N@\Y 00°6¢ e -+ 00°L HED -
00°gl FPECY 00°0¢ A~ 00°0¢ HNZ/ 00°09 P4 €00 cPn>
000l a2l 00°¢ Lo 00°9 v 050 =t
00°Gl bAEE - 00°0E N2 00°¢ V(1% 050 = 0S50 XL =
00°0c 3[4 05°0 O—1r 009 @cFN - 00°L L—YEdD - 00°L _JCE
00°¢ HeT L - 00°¢ Y (1P 00°¢ gy 0L0 AN N (0)7A0] H—
00°¢ =00E 00°€ el 00’8 VYN 0c’'L ¢;CFN - 0L'0 —&0N £
00°¢ Bl 050 L1201 00°0L CAGOKL « 0L0 LNl
00°L N 0S°L @GP -« 000l —~ L= 00°¢ <2 00’8 L £l
050 (D) 00°9 YL\ 00°0¢E ==/ 00°0L —W4LI=EL 00°¢ F2H
00’9 N 0079l 229N 000l vy 00°0L =P 00°9 @E°FPO
0G°L B 00°gl vyay> 00°0L ] (7] 00°Gl AAWA 00°9 ST—AULT M
0G°L V(1% 00°0¢ =CE=/ 050 Wern 00°01L BEYT AL » 00°g LA 2—A
0L0 E5a oo”ow FVNEXD 09°¢ B¢ 00°G¢ MO - 00°Gl v
00°¢ @cr - 00’L LT hH - 00°L Heoh - 080 >21Y72] 00’1 >21v2)
00°Gl HY 00°0¢ M - 00°0¢ >R = 080 W C¥rN 00°¢ Arkl—(1k
00°09 G—M N\ 00°0L L4 - 00°¢ Hech - 00°9 —fr )+
009 NI -« 00°09 N = 00°Gl M
00 7LL N 00°0clL A 00°0¢ ¢ 00°0clL D4 00°'801L pi4
00°g6 ¥ 00°001L X% 00°00 P 00°00L ¥ 00°06 ¥
0090¢ T - 00902 T - 0090¢ T - 0090¢ T - 00°90¢ TEE -
| =5 BEO WW_WH e 4 2O\ 2oy =9 B0\ s =5 B\ B =5 gL\ 2
YF =N
BEMHO200 L—YEFOSCU M H2LOAN VAL (29Q\N)EARCLNEE L—YXNE
L—=MNNZR WO —"0¢ BECRI2OLEE L—YLEOGUZENA LAOCKLSE
{2 W2RONET w2 HEEZYW ACNCA:
T+ TEH TEH TEH TEd
=R HLLHS HEiy HOLHS HEni HSLHS BEY H¥LHS BaE#H HELHS

ZETVVEl s BHEEB VK — F NN LIGE




100 I(—0a
000491 A
€00 cPN>
00 i 00091l N4 00°0¢ —(adc0gL =
090 XAOEC =+ €00 [ g 00°0L REE DN () -+
00°'L —_}oH 0€0 =1 009l Y\
009 Q@M E 00°L |74 00°'0¢ mm\/ku/\
00°0L AN 00°¢ ¢pcrn - 00°GlL BlhE - 0004l N
0002 2CE=/ 050 L—YEEh - 00°¢ GONNZL
000L EIN 000l &L+ 000491 M 00°L 2PH +
00°0¢ v i 00°0lL v 00°¢ GONNZEL + 009 2P«
00°0¢ W= —= + 00°0¥% NaxFE 00°L /(1% 00°9 SIZIHC -
000l YY1 00°'L B 000L =t
800 —\MAaNvGLhEL 000l 2C¥ 090 =1 00°s¢ Y
0£0 =i 00°L K 06°¢ Gpcrn - 000l AW 00°¢ —&N\ +
00 XL = 009l RA¥%H - 0G0 @G 00°0L @LI[Y -« OO”Om N
0S¢ MWkl —Nk 00°GlL Y 000L CP” €00 cPno
0S°0 >21Y 2 000l P4 000l v 00°SL A - 060 i
000L L=V = 096 PCY @+ 00°0L BTN 00°L XL o»
00°0L N2°¢FCER 00°E (1% 00°'0¢ BE - 020 L OOH‘ _JCH
00°0Z 2CE=/ 059°¢ B 00°¢l L=t 00°¢ { O0.0\._ Tt -+
0099 NG (oY AL} ¢GCcrn = 00°¢ (1P 00°L TEGHERLH ~
0S°L T 00°¢ N 00’V ¢GCcrn - 00°L A
00°¢ —&N + 0g’¢ CAGED = 00°L Ly 0€0 HOXLY 00 0L N[ AL
€00 [ 00°0¢ =91 0S°'L EoMH - 00°9 AN OO”On Y2
020 = 00'0¢g 2CkP=/ 000lL e e 00°0¢ N3 00°0¢ 2CE=/
020 ] 009l WAl 800 —MAaNGLEL 00°0¥F a4 OO”O | nN2¢3FC
0G0 Y—0(—6&Y6 00°0L V] 00°L Hr 31 0o00oL 2RI oo.on L=V =
090 XACLC = 00'0L x00¥ 00’V 4 00°0¢ F N
00°0lL 1—TAd2 00°L HeCch - 0009 NaxF 08¢ N4 006Gl g% -
00°¢lL L L0, 0S0 >2lv2 00°L =i 00°'L 221\ H
00°¢ L—A(, 00°0¢ Rl - 00°¢ EE - 08¢ 2n 00°0v% v
00°'8 WA 00°09 HEe -« 00°0¢ % 09°L N/ (1Ff
00°0¢ 0P/ 000lL AW 009 2PH - ODHM Y —(\E
00°GlL RAEE - Oov’'L (QEEE 000t M - 00049 p OO.@ HEHEY -
00°¢ HeTh + 090 >21Y7] 0009 "7 T
00'801L N 00°0¢lL ¢ 00°0c¢lL ¢ 00°0c¢lL N 00°S¢ N
0006 ¥ 00°00L K 00°001L DA 00°001L ¥ 00°'0L ML+
00902 = - 0090¢ = 0090¢ = - 0090¢2 EE - 0090¢ B -
R T e e A T A NS W A o S o —
=YL &G =0)=)
LY OFEMZR ANV ¥oMENA YW—NACOdLOMGIC YER L—YEOEN L L
— L=\ Lye (1OEEE HI= UZL2RLE2ON myvah+
YICr £ it KB Ch g2 — L=\ L
- Tk Bk o o Tk
H&:ZT BHvZHS HEiN HECZHS [=E R4 HZZHS =EIRT BLZHS =E1= BEOZHS

ETVERHE HEER VK —F NN LIGE




SETTVHIR S

e BN —

FUNLGHE

00°L LaULCCLY
0071 JCC
05°0 N 00°0¢€ py /A
05’¢ LAWECEL 00°04l X 00°¢ E
00°0¥% Tt - 00°¢ GONNZL 00°GlL BTV -
00°0% GE N N3 - 00’9 2Pl 00°0Z TIRE -
00°041L N 009 Wﬁmm * 00°0¢ H)N
00049l N 00°¢ GNNEL 00°0L €00 crn- 00°gl EY\LP
70°0 crn> 00’L (1 000l ey *5 090 = 00°0¢ —Na *
06°0 KACL + 00°L B 00°0¢ He - 90°0 i
050 QD%Q * 060 i 009 >y 2 00°L =4 00°0G1L R4
050 00°€ @mcr - 000l cE2 00°L El] 70°0 c¥no
00°L \L\Dm 00°0L = 00°Gl HY 00°¢ HETh - 0¥°0 =1
00°0c v 00°0L I 00’9 vyl 00°L PCP + 00’L Bl
00°0L YA 00’9 S22 00°L Hecy - 00°0lL N2¢FC 00°L L—YED -
00°9 N2¢2FC 00°0L 0¥ 00° B 00°g A2 000l L £
00°0¢ =CE=/ 000l YAy 00°¢lL e - 000l HCHx 00°0¢ N3
0001l a2 00°6¢ Y 00°GYy e 00°0¢ SCE
00°Gl Mg - 00'9 LG - GL°0 mmml» 05°0 _CH 0€°0 Wern
00°9 (C—Y = 00°L |4 00°9 +N 020 il 0€0 >21Y2]
00°0lL @EOF( 00°'0¢ el - 00°'L ﬂ\ 0L0 ¢pcP -+ 00°0< M
00°L WA 00°Gl £+ 00°0lL p /4
00’ L—LE - 00°¢ ¢GcP - 00°¢ @GP - 00°9 g
70°0 ¢ 00’L Y (1% 00°¢ ) 00°G VA E
0€0 5t 00°¢ Y 00°9 =CUE 70°0 crn> 0L0 U\
050 KACLE * 00°L B 000l Ayl 0c’0 = €00 m%JU
06°L r—(—&Y0 00°0E pa/4 00°Gl =91 050 XA+ 020
00°¢ £l 00°S VLY 00°Gl >2NM= = 00°L [ 00’L m&,&
00’0 Ty 2N 00°gl yay> 050 >21v72) 0G°L L—(Fh 00’1
00°g LadLL 00°0¢ e/ 00°L HECTh - 00’8 Lo LL 00 L— NWE *
0002 A=T A2 00V HHEY -~ 00°L WY LG 00°Gl B2 00°L @cP -
00°9 ST—AUTROA 00°0% FNEXQ 00°0% FVNE Q) 00°¢ —C L L
00°0c AW 00V Gyo. 00°9 N 000l AR 00°¢ —(—&Y} ¥
00°09 SCE-/ 00’L @cr - 08¢ ¢@cP -« 00°GlL AAWA 00°L mmm,,m\m.b. -
00°9 BYTrMEs - 00°L |74 08¢ Y (¥ 00°0v ECE=/ 00°L 7]
00°¢ LA 0€°0 Wern ov'¢ G 00°¢ Heh - 00°¢ N—=8Y -
00°L &S h - 00 >21Y2] 09’1 H 3 050 >21Y2| 00°0¢ LGNS 2—A
00°L >21Y 2 00°0v M= - 00’9 HMHSY -+ 00°0¢€ >2IN=R 00°09 =CE-/
00°0E M9 - 007049 JCONED + 00°0L BY ¢ 00’1 B
00°L Hech - 05’1 ZEQE_o@GG - 00°0G >R -
00°6¢€ p4 00°0cl [4 00°0clL N 00°9€ N 00°0¢ N
00°0L FLLNYL + 00°00L ¥ 0000l B 00°0L N—O41= + 00°00 ¥
0090¢ Et - 0090¢ EE - 0090¢ E - 0090¢ Tt - 00°90¢ Tt -
=z LAY 2ug =5 O\ Wﬂu@f =5 BO0 Wn._uumw_l =z g0\ AL =4 2O\ B
O
AANELCT Ry W —C QI L[ SChitl Lrg—rc
L—YOEHFIEDPO HZEOF N &N 2GS YR INCONED BT —(104240EE —-r I
— I LONLL——= W2 g2 MO0 Yok
AR HG\[r TER|NEEG TEH &L T T
H#Z HLEHS HEiN HOEHS HED[ H6ZHS HEy: H8ZHS BHaH HLZHS
W




